Physics 218, Spring 2004

Today in Physics 218: relativistic accelerating
charges

U Relativistic charges and
the generalized Larmor
formula

U Bremsstrahlung

O Synchrotron radiation

The radio arcs in the Milky
Way'’s center, observed with the
VLA by Farhad Yusef-Zadeh
(Northwestern U.).
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Relativistic charges and the generalized Larmor
formula

We derived the Larmor formula,
. 2 q2 2
3 C3

’

under the assumption that v < c. This is not always a useful
or interesting approximation.

U However, the derivation of the power is more
complicated if we relax the condition v <« ¢, so we will
only sketch the derivation here.

0 The extra complication arises because we, sitting at point
7, see the charge to be emitting P = diW/dt, while, from the
charge’s point of view, it’s emitting dW/dt, .

N
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Relativistic charges and the generalized Larmor
formula (continued)

Q It's true that these are simply related:
dw _dwot, _dW «

p,. =2 _ 4V O o
s =g Tan, ot dt, wu
Q We also know that
P _ILEZ N
obs. = rad® -0 sin0dodg
4r

- [-=Ehar?de
4z
and at this point it will be convenient to define the power
per unit solid angle,

dp c 2 2
40 oy, a1
obs. 4
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Reminder: solid angle

Solid angle is to angle what area is to distance, and, like
angle, is bounded. The paradigm of solid angle is an infinite
cone. It has units (steradians) but no dimensions. 3
0 A cone with small opening angle «
corresponds to a solid angle Q = 7a?.
Q In spherical coordinates, the infinitesimal
element of solid angle is dQ = sin 0d0d¢ :
da = (rd6)(rsin 6dg) = r2dQ.
0 The biggest a solid angle can be is that of
a cone opened so far that its side
collapses into a line. z 27
The value of this solid angleis Q= Isin 6do I dp =4n.
] Q
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Relativistic charges and the generalized Larmor
formula (continued)

0 For a concrete example, consider the integral we did on
the way to getting the Larmor formula:

22 .2
Prce = S-do = Z '23 [ 0 #?sinododp
T £

22
(d—P] -1 u3 sin? 0
aQ vec 4rmc

O Express the emitted and observed powers in this fashion:
AV 1 dW wudN ru

P, . - = - - 7 _-~"Pp ;
emitted at, BL dat v dt wc obs
ot
(2)  _xwa)
aQ emitted we \ dQ obs
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Relativistic charges and the generalized Larmor
formula (continued)
U Last time we found that the field at large distance radiated
from a moving charge is
Ead :L3m><(u><u) ,
(vu)
50
(de v C oo 2 U C oD o
—_— = 1 =—— ”®
AQ Jomitied 1 47 VT 4x ™
2 22
. 2
e g [x(uxa)]
wc 4r (v-u)
A 2
7 [ix(uxa)]
dr (4 ,,)5
22 March 2004 Physics 218, Spring 2004 6

(c) University of Rochester 2



Physics 218, Spring 2004 19 March 2004

Relativistic charges and the generalized Larmor
formula (continued)

A To find the total power emitted, we “just” integrate this
last result over all solid angles:

Pemitted =

2 ’2><(u><a)2
ZT[II: (,;4,,5] a

This is very complicated and not very instructive, so, just
as Griffiths does in the book, we'll skip to the answer:

2 ‘72 6| 2 (O 2 Generalized
Pemitted =557 | 8" —| —Xxa ’
3 C3 c Larmor formula
1
where T —
1-22 / 2
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Relativistic charges and the generalized Larmor
formula (continued)

O Note that the original Larmor formula is recovered if we
let v < ¢ in this formula.

Q Note also that the effect of moving at high speeds (y > 1)
is that a charged particle emits much more power that it
would alt lower speeds, for the same acceleration.

O Time to apply this in some concrete examples. There are
two simple geometries that will do for illustration:
velocity and acceleration collinear, or velocity and
acceleration perpendicular.
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Example: bremsstrahlung (“braking radiation”)

Example 11.3: Suppose that v and a are instantaneously
collinear at time ¢, as, for example, in straight-line motion.
Find the angular distribution of the radiation (i.e.
(dP/dQ), and the total power emitted.

Solution:

mitted)

Since either v || a or v || —a would count, we'll start with
something that’s true for either:
ovxa=0

uxXa=cixa-vxa=cixa
With this, we can also write
ix(uxa)=cix(ixa)=ci(i-a)-ca ,
[ix(uxu)]z :Czliﬂ2+()2'u)2*2ﬂ-’2(’2-ﬂ)]=€2[ﬂz*(i‘ﬂ)2:|

22 March 2004 Physics 218, Spring 2004 9

(c) University of Rochester 3



Physics 218, Spring 2004 19 March 2004

Bremsstrahlung (continued)

But this is just

ix(uxa)=cix(ixa)=ci(i-a)—ca ,

[@x(ux a)]z =c%a? [1 —cos? 0 |=c%a®sin? 0
where as usual @is the angle between the acceleration and the
direction from the charge to us (). Meanwhile,

5
(3-u)’ =(-ci-v-i)° =c° (1—Ecosﬁ) =c%(1-Bcosd)’
c
Thus
N 2
[dP) @ [Ex(uxa)]” | %% sin?0
emitted

aQ Tar (rZ<u)5 T 47c3 (1—ﬁcos«9)5
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Bremsstrahlung (continued)

This differs grom (ap/ dQ)emitte at low speeds by the factor
(1-Bcos6)’. Thus dP/dQ)1s stffl zero in the forward and
backward directions, as it is for v < c.
O However, if g — 1, the quantity Scosé gets very close to
1 at small angles, so
(1-pcos8)®>1 if f—>1,6>0.
Q Thus the charge beams most of its energy along the wall

of a narrow cone, concentrated in the forward direction
(i.e. along v) if its speed approaches that of light.
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Bremsstrahlung (continued)

= =1000

Angular patterns of radiation for a charge g at speeds v < ¢
(left) and v =0.9¢ (right). Note the change in scale. Here’s

what’s plotted:
x=sin® fcosd Jc:sir12€co:36'/(l—ﬁcost9)5
y=sin’sind y:sinzgsiné’/(lfﬁcosﬂ)5
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Bremsstrahlung (continued)

By differentiating (dP/dQ) emitted With respect to fand setting
the result equal to zero, one can find the angle at which the
power per solid angle is largest, and it turns out to be

G = 1;ﬂ (if p—>1).
At low speeds, the maximum occurs at 6y = z/2. Thus
qzuz sin? &
3 5
(dP/dQ)max,v—m _ 47c (1 fﬂCOS 90) _ 1(8J5 78
(dp/dg)max,v«c q2u2 4\5
4zc3
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Bremsstrahlung (continued)

The peak value of (dP/ dQ) mitted 1S thus MUCH larger for
high speeds than for low spee s, consider that

0v=09c = =23 = =767

s

v=099c = y=709 = »®=64x10°
The total power emitted is

B @ sin® 0do 2
Pi".de '[(1 Bcos6) '(‘;
1 ( )du 2,2 4 2022
‘[ 1 ﬂu N 203 3(1*ﬂ2)3 Ig ¢ r
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Bremsstrahlung (continued)

Since both the low-speed (Larmor formula) and high-speed
versions of the emitted power depend only on the square of a,
the same power and dP/dQ) is seen whether the charge is
accelerating or decelerating.

4 It is more common, terrestrially, to observe the power
from decelerating particles, by first accelerating a beam of
charges up to high speeds and decelerating them rapidly
by sending the beam into a (lead) brick wall:

v = Most of the. power
< is beamed in the
1 forward directi
orward direction.
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Synchrotron radiation

If v is perpendicular to a (the other “simple” geometry), as in
the case of uniform circular motion, P and dP/dQ can be
calculated with just a little more effort than the previous
problem. (This in fact is problem !11.16 in the book, which
will not be assigned.) The answers are

(dpj - qZuZ (1fﬂcos¢9)27(1fﬂz)sin2 Ocos? ¢
emitted

aQ 4rc® (1-Bcos %
v B
2 qzaz 4
P==

33
The coordinate system is described
at right.
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Synchrotron radiation (continued)

0 The most common way to see charges in uniform circular
motion in nature is of course to put some in motion in a
uniform magnetic field.

Q This result shows that the radiation still tends to be
beamed in the forward direction.

0 Charges used to be accelerated to high energies like this,
in variable-B machines called synchrotrons, and the
radiation resulting from the centripetal acceleration, for
which the total power is given by the expression above,
has been called synchrotron radiation ever since.

QO Most of the radio radiation by normal galaxies is
produced in this way, by electrons spiraling around in
interstellar magnetic fields.
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Fields from moving charges (continued)

Last time we obtained some useful components of the
calculation of the fields of moving charges from the Liénard-

Wiechert potentials:
O gt
ot w-u w-U

where u = cx —v. Now we can proceed:

E= —VV—E% , where
ot
V= q - and A=v q
( 1. ) U U
2| 1-—x-v
c
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From last time: V%,

O Next, Vt, : : : 1
Vi, = —;V’L(t,) = —;V\/’L"L = —ZﬁV('rm)
_ 1 ) using product
= 2u(2»¢x[V><n]+2[r¢ V]’t) " rule #4
O We'll have to use the chain rule carefully here:
0 0 0
('L-V)'L:(’L-V)(r—w[t,]):[’rx a—x-#'ty@-%—'tz&J(r—w[t,])
:m-[qxaii o, d__at, dJ

oy~ — L — |w
ox dt, Yoy, °ozd

=n— ”xai_‘_"yai_“‘zﬁi d—w:’t—(mvt,)v
0x ] oz )dt,

Physics 218, Spring 2004

22 March 2004

19 March 2004

From last time: Vt, (continued)

Vxe=Vxr+Vxw

ow. ow
-0+ BT oo BBy - )
Z 74 24

ox oy
(awgt o), faw oty ow, ot ),
ot, oy ot Oz ot, 0z 2

+[6wy ot, ow, ot

Lz
ot, ox ot oy

=-vxVt,

’

'LX(VX%):%X(—vXVt,):—v(rt.~Vtr)+Vtr (x-0)

22 March 2004

Physics 218, Spring 2004

From last time: V¢, (continued)

Combine these last two with the formula at the start:
Vt, = *l(’LX[VX’L]*[’L'V]’L)
o
1

CM(MNQ(W)%W) :

or

Vt, = —l(m—vt, ('L-v)) .

cr
Solving now for Vt,, we get

Vi, (cx—n-v)=—2 ;

k2 k2
Vi, = =
Ct—%-0 2-U

22 March 2004

Physics 218, Spring 2004 21

(c) University of Rochester




Physics 218, Spring 2004 19 March 2004

Fields from moving charges (continued)

— £ =— q¢ wU)=— ¢ CL—n-0
vav(wj (M)ZV( ) (M)ZV( )

Now, Vi, = V(tlj -1y = Ve——evi, L and
c

c

V(%v)=(2V)o+(v-V)r+2x(Vxv)+vx(Vxr) . PR #4
This will take a while, but we evaluated terms like these last
time:

0 0 0
(x-V)'U—[«anr«y@Jruz 62]0

ot, d ot, d ot, d
=Lty v
ox dt, oy dt, oz dt,
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Fields from moving charges (continued)

S0 ot ot ot, | dv
(»-V)o :(’txa—;+’ty @’+’tza—;jaz(vvt,)u
Similarly,
0 0 0
(v-V)a=(v-V)(r-wlt,]) :[vx §+vy@+ v, &}(rfw[t,])

ot, d ot, d ot, d
=U-| Uyt U, U,
ox dt, 7 oy dt, oz dt,

=v—| v, at’HJVaiJrvzai d—w:vf(v-Vt,)v
ox 7oy 0z )dt,
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Fields from moving charges (continued)

We showed last time that

Vxwx=-vxVt, , so,similarly,

Vxov= %*aﬁ JA(+(6UX 76&Jg+ avy avx z
6y 0z 0z ox ox 5y

(et @ya), (wa, o),
o, oy of, oz o, oz o, ox )0

[Pt oo o),
ot, ox ot, oy

=-axVt,
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Fields from moving charges (continued)
Thus,
V(%0)=(2-V)v+(v-V)r+2x(Vxv)+vx(VX1)
(v Vt,)a+v—(v-Vt, )o—nx(axVt,)-vx(vxVt,)
(v Vt,)a+v—(v-Vt,)o—a(x-Vt, )+ Vt, (v a)
+v(v-Vt,)=Vt, (v-v)
:v+(a~u—vz)Vtr , and

vw=-—1 7c2Vt,fv— v-a—0v? Vi,
(va-v?)

25
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Fields from moving charges (continued)

But we showed last time that V¢, =——*—, so
nu
vw=—1 3 [v(m-u)—(c2+u<a—vz)x:|
(v-u)

Now for the vector-potential part:
lﬁzig(w):i[v@jwﬂ):i AL
0 2l ot o) Ao ot

c ot 52 ot
1 0 ot, 1 cv ot
=—|Va+v AO Of —2 1 5 (u‘u) r
¢ ot, (x-u)? ot ot
cv ot
:%(Vﬂ— 1 5 9 —(er—v-2) | ==
c (’t- ) ot, ot
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Fields from moving charges (continued)
10A_ 1 Va0 04 Can-v ot,
coat (2 (,L.u)Z at at ot

Y., Wz(£w+m,02j o
clnu (’ru) 13 U

- {iu(mu)-%—%v(g{cm—u-u}+a<u—02Jj|

(vu)’ Le

-1 {u( )+Cv(c2—v2—5mu+a-mﬂ

mu)

Thus - finally - we get:
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Fields from moving charges (continued)

E-yy_1oA___ac B[U(u-u)f(chrma—vz)u}
c ot (w-u)
. 3{iu(m<u)+iv[cz—v2—£u<u+u-uﬂ
(,L.u) c c (2

:7%{v(t-u)+(cz +»¢»a—v2>[—a+%v)

(v-n)

+£a(u~u)—iv£n~u}

c c o
C (2 k2
- (cz+m<afvz ——u [+—a(v-u)
3 c c
(v-u)
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Fields from moving charges (continued)

= (:7:)3 |:(c2 —v2)u+z><(u><a):|

Similarly, but avoiding the tedium,

B=VxA=«xE .

There is a special significance to each of the two terms in E.
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The generalized Coulomb field

The first term is

This field is proportional to 1/ #2 ,and its direction is the same
as that of # =c«—v. Thus it is similar in some ways to the
field for a static point charge. In fact, if we let v =a = 0, this
term gives us

"% ~ k2 A A~
Egc = ‘77(02 —vz)(cm -v)—> L L P
~ 3 N3 2
(w[cm—v]) (n-ci) x
Bgc =%xEgc =0 ,
just as in statics; hence the name.
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The radiation field

The other term,

Eq = wx(uxa) ,

qu
(vn)’
is only proportional to 1/r. Thus, as we’ve seen before, in the
case of dipole radiation in the far field, this term is much
larger than the other one at large .
Q The radiation field also points perpendicular to #,as befits
a transverse spherical wave: i-[«x(uxa)]=0.

U Note also the presence of a: again it is shown that an
electric charge needs to accelerate in order to radiate.
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Example: power radiated by accelerating charges

As just noted, the power radiated to large distances is
dominated by the radiation field. Let’s compute the power
radiated by an electric charge g that accelerates, starting from
restatt, =0:

U=ci—-v=cr

(Actually this is a good approximation for all speeds v <<<¢.)

Then,
Epad (t =0)= fi’i 3 xx(cixu):iz[i(i‘a)fa:l ,
(n-ci) e
and g4 o) :i}st :iErad (4 X Epaq )
2
= i[’zESad _Erad (’2 . Erad )j| = %'z
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Power radiated by accelerating charges (continued)

2
:ii’;c[} [a2+(’¢ a)2—2a u(»ﬂa)}
2 22
., <19 2 (o2, 94 2
_%E/‘ZCLL [u —(%-a) }—151264 (1—cos 9)
qzuz sin?6 ,
4 W2 ’

where #1is the angle between the acceleration and the
direction to the observing point, r (that is, the angle of #).

22 March 2004 Physics 218, Spring 2004 33

(c) University of Rochester 11



Physics 218, Spring 2004

Power radiated by accelerating charges (continued)

The sin? 6 factor indicates that the charge radiates no power
in the forward or backward direction, and radiates most of its
power perpendicular to the direction of its acceleration.
Q This should remind you, again, of electric dipole
radiation.

The power radiated through any sphere centered on the
charge is familiar:

22 22
P=s-do =[S 9392 sin 0dodg
4rc k3
2o oz 20 22 Larmor
_4 aajsin30Jd¢=qa3%2”:§q3ﬂ . formula
4rc 0 0 4rc ¢ again
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